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April 8, 2019, Monday - welcome back!!
Remember to copy the problem and only the

correct answer...

3. Which sum Is rationat?
1. Look at the radical. S o 0( 2
81726 1, o
W s rovrtan omot varoiear ) S50%0%
~218. s—gzw Li=455530621¢
¢ Taes =
T
' = 4. Which product is irrational?
A 12150 -
B. VB4 -4
2. Look at the expression. RERE
28020 = o ”‘ d
Which of thesa i squivalent to this xpression? 3 aﬁ ~6
e TE— &
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Characteristics of Quadratics

SAME FOR EVERY QUADRATIC GRAPH:

Z intercepts (#, 0) Yeintercept: (0, #) Domain: (~, +0)
Solekions, ansisers Slope oR
Average Rate a[d)ange From point A(x, y1) to point B(xz, y2) is 22 g P

rmu
S——

Vertex: lowest point

axis of Symmeryx = =_|_ > xevalue ofthe vertex

»
o Dt
~
End Behavior: ‘_/-\
As x> =00, (x) >0 \\
SN

Asx>+00, f(x) Dtoo v Yeintercept
Interval of Increasef RIGHTof the graph (= |, +0) > x-value oftheverkd i’)
Intervala/l)ermas the graph (o0, _ [ ) x-value of the vertex
For a quadratic that OPENS DOWN: ‘ o ( ;2 g, ) ‘

B Y
Vertes: highest point ]
Axis of Symmerry: x = @A > x-value of the vertex
Range: (— Sy-value of the vertex

A
Extrema: um at the vertex

End Behavior:

As x>—on, f(x) D=0

Asx>4o0, £(x) Sz ‘
Interval of Increase: LEFT of the graph (~, 9\) > xvalue of\rge vertex
Interval of Decrease: RIGHT of the graph (. a “+00)Sx-value of the vertex
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Algebra 1~ U3C Day 1 Characteristics & Vocab of Quadratic Functions

Fill in each blank using the word bark
vertex  minimum axis of symmetry xeintercepts

parabola maximum zeros/roots adebxec

1. Standard form of a quadratic function is y =

2. The shape of a quadratic equation is called a

N AT T

jr* B/
i —

= L
TV

5. When the vertex is the highest point on the graph, we call that o
6. When the vertex is the lowest point on the graph, we call that a
7. Our solutions are the.

8. Solutions to quadratic equations are called

Sopene

2. Vertex. 2. Vertex.

b st s = 3 b. A of symmery: x =
intercept(s) . winterceptis) ___ . xintercepts):

4. yintercept d yeintecept__uf d.yintercept

P.c,ﬁ\ an I
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Graphing Quadratics Using Tables

1) Graph £(x) = ».

10| x )
8 2
6
El
4
2 g
PSS ST
08 6 42 | 2 46 810
2 1
i 5
5
8 Transformations:
10,
Zeros Vertex:
Yintercept: s of Symmetry:

2) Graph f(x) =x* — 4.

TOTD ~ U3C Day 1 Name TOTD ~ U3C Day 1 ame

) /h
|

x-intercept(s): x-intercept(s)
yintercept | y-istere
Vertex Vertex:
Axis of Symmetry. Axis of Symmetry:
TOTD~ U3C Day 1 Name TOTD ~ U3C Day 1 Name.

xdntercepi(s).

yeintercept

Vertex:

Axis of Symmetry: Axis of Symmetry:

10 )
8 El
3
a
4
2 0
PSR
-10.8 6 -4 -2 2 4.6 810
2 T
"
2
5
8
-10,
Zeros Vert
Yintercept: s of Symmetry:
Graph: Graph:
o =GrnE-s fE)=G=1=5
RN
Z
El
0
T
2
PEN®)
2
El
0
1
2
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Transformations:

Domain:
Range:

eintrcep(s)

yeintercept

Vertex

Axis of Symmetry.
Interval of nerease:
Interval of Decrease:
Extrema:

End Behavior:

Asxosn, f(e)
Asxoa, fld

AROC from (0, o, )

1)

Z(uz):tx

Transformations:

Domiin
Range:
sintreeptsy
J—

Vertex:

Avis of Symmetry:
Intervl of Incresse:
Toterval o Decrase:
Extrema

nd Behavior
Asxoa, o
Asx, Sl

AROC (2, Yo @, it

Algebra 1~ U3CDay 2 Characteristics of Quadratics Notes
Characteristics of Quadratics
. 1 Zeros:
April 9, 2019, Tuesday
2 Yo |\ {
3. Domain:
4. Look at the steps used when solving 3(x - 2) = 3 for x.
[ me . the. mow their . v \ 1
3x-2)=3 Wite the riginal equation S mdsors 1 7/
. o itk ot et et B-6=3 Use the Distributive Property. \ /
(ow many hours will I ake them to mow thel law
wff3i6y  sepr 6 Range: \ /
A
e 3 zxzeg Step 2 7. Extrema:
2
o1 % _9 Step 3 8. Interval of Increase: AN
3 3 1
2 9. Interval of Decrease:
A) b ‘D x=3 Step 4
+e — 10.End Behavior:
3 © - Which stop is thp resuit ln combining like terms? 11.AROC[-1,0].
phissmid Asx>—o0, £ >
A Stepi
o) As x>+, 1) .
‘B 3 3 Y B. Step2 1 Zoros
42 - \ C. Step3
3 < D. Step4 2. Veintercept:
b5 + Do
)2 e l o Vores
3 = 5. Axis of Symmetry:
b Answers to Unit 2.1 Sample Items
D)‘ ,? 1¢c 2¢ 3B 48 6. Range:
-4 L= l 7. Exrema:
3 o & Interval of nrease:
9. Interval of Decrease:
10. End Behavior:
11.AR0C[0,2]
As x> =, 1)
Asx>+00, 609 >
Quadratic Characteristics/Transformations HW. Name Describe the transformations.
1 y- 42 6
1. Zeros:
2. Y-int 3 4
tercept: 4
3. Domain: 2
1
4 Vertex:
727L| 1 345 78910
5. Axis of Symmetry: s Tty 7
6. Range: -3
la
7. Extrema: s
s
8. Interval of Increase: -
9. Interval of Decrease: -
10.End Behavior: HLAROCE. A 3 [y=G-2° B
xS —en 109>
As x> +oo, (x) >
1 Zeros:
2. Venter
Yintercept: 4 G171 D
3. Domain:
4 Vertex:
5. Axis of Symmetry:
6. Range: %
7. Extremas: - [ a1
8. Interval of ncrease:
9. Interval of Decrease:
10.End Behavior: 11.AROC[-1,1]
x>, 109 .
xS sen 1)
Name Name
Quadratic Characteristics ~ TOTD Quadratic Characteristics ~ TOTD .
N N April 10, 2019, Wednesday
SAMPLE ITEMS
b 1. What are the zeros of the function represented by the quadratic expression 2x* + x - 32
1 T A anda=1
B T ] T T 8
] c. 4 v ng x items. For which
1 g number(s) of items sold is the company's profit equal to $0?
i \ 0. A Oftems
sl =2lv-2 35 items.

C. 10items and 60 items.
D. 20 items and 30 items

hat s the vertex of the graph of f(x) = x* + 10x- 97

(5,66)
(5.-9)
(-5,-9)
(-5.-34)

po@p 5
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STANDARD FORM of QUADRATICS = VERTEX FORM of QUADRATICS
y=ax’*+bx+c & ly=a(x—-h?*+k

TEX 5 SFAMMW FORM

EXAMPLE oy 2x -1

> ! -

stzp 2MUlliply the two binomials &
‘combine like ferms (using the ->

BOX, distributive, or FOIL method)

STANDAND - VETEKFORA

stzp 2 Disfrioute if necessary &
combine like constants ferms.

ep 2. ind Ihe ine of symmeiry or ‘h' by
using x =2

. Find the yevalue of the vertexar ¢ | 3
by subslituting '’ info the equation.

step.4. Wiite the equation in vertex form | i i
using The *h* and ‘K’ found above. H i H
The “a’ wil be Ihe ‘a’ found inslep 1. | ! !

April 09, 2019

Algebra 1~ U3C Day 3

‘Examples:
Dy=x+3724+4 3) y=2(x+372-5 5 y=2:x+1)?-2
2 y=G-Di8 9 = —G-H+3

Convert VERTEX -> STANDARD Form Notes

Dy=at184+10 3) y=x?+10x 420

2 y=xtisril

1) y= -2 —16x-32

Converting STANDARD > VERTEX Form Notes

Algebra 1 ~U3C Day Name

{andard Form & Standard to Vertex Form

Convert from Vertex form to Standard form for each equation below.

Convert Vertex to

D 7= 31 2 /=3y -3
3) fl) == 4 -1 4 =2l +2
5 =3 42 ) £lx)=(r42)

‘Convert from Standard form to Vertex form for cach cquation below.

15) flx) = 46147

17) £l 6x+12

19) flx)=—x*+2¢-2

20) f1)=2¢+ 120420

7 =3 -1 8) fl)=(x+2P+4
9) flx)=-2(v-4)' -4 10) flx)==2(x-3)"+4
Algebra | Name, D1

TOTD ~ Convemng Qu;\dmm: Functions
Convert the given equations from vertex form to standard form.

B y-G-2 2 yo2fx- 1) +4

Convert the given equations from standard form (o vertex form.

4 p=-3 - 18-28

Study Guide Urit 3¢

5.Converty = x? + dx +4 to vertex
form, then identify the vertex and the
graph.

Name:

6. Whatis the vertex and axis of symmetry
of the quadraticy = 2(x- 1)2+ 47

ACHDx=1  B(H1x=4

c@ayx=1 D(L 4%

7. Convert

8. Convert the foll into

vertex form: y =7 - 8x + 13

standard form:y =-2(x - 4)?- 4
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Study Guide Unit 3¢ Name
e vt .o sy, s . e, s ot e i April 11, 2019, Thursday
- 0 r
. SAMPLE ITEM
1. A certain population of bacteria has an average growth rate of 2%. The formula for the growth of
1 the bacteria's population is A = P, + 1.02", where P, Is the original population and t i the time
in hours.
e — i you begin with 200 bacteria, about how many bacteria will there be after 100 hours?
4 yintecest AT
8. 272
— C. 1449 2. The points (0, 1), (1, 5), (2, 25), and (3, 125) are on the graph of a function. Which equation
(P Graphf(0 = ~(= 1 D. 20000 reprasents that function?
) .
= 2
>
7 6 flx)=dt
X 5
T
7
: .
...quiz
Transformations
intercept s ot Symmerry
Practice lems Additional ractice I Rubrics and Exemplar Responses
ttem 17 item 17
Extended Constructed-Response. Exemplar Response
Parth 60 = x* - 6x + 87 Explain how you determined your D
‘answer. Write your answer in the space provided. == ‘Sample Response
PartB Know ¥-6x+10h and not Part : The zer0s are 2 and 4
. Find the function. Wite space o
provided.
o find the zeros, | set the value of the function equ t0 0. Then | factored the quachatic
expression on the rght side of the equaion. Nex, | used the Zero Product Property o set
Parth each factor equal 1 0. Then | solved each of th resulting equations for x. These vlues of x
4| arethe eros ofthe uncion. O other vald explanation.
aNp
Part B: The coeffcien of the x s positive, so the function 0pens up, which means ft has a
minimum value instead of a maximum. Or other vald explanation
o
The minimum value of the functon s 1.
3| The student canectly answers three of the our parts
2| The student comectly answers two of te four prts
1| The student comectly answers one of the four parts.
0| Response s inelevant, nappropriate or not provided.
Note: error in one part that parts, then the student
PartB s not penalizec again for the seme eror.
Georaia Milestones Agebra | EGC Stucy/Resource Guide for Stugents and Parents  Page 237 o1 258 Page 254 01256 Georgia Miestones Algebra | EOC Study/Resource Guide for Students and Parents
a0 2018y s eparmer o St e e, o0 2018 b o epatan o Etion, Al s s,
Name & Partne]
April 12, 2019, Friday Match the given characteristics to the given graphs, then identify th]
Graph, Graph
Domain: (=00, 00) Domain: (=09, 00)
Range: [=2,00) Range:
Vertex: Verex:
Constructed-Response Zeros: Zeros:
y-intercept: intercept: (0, 10’
yrntercepr: (0,10)
The first four terms of a sequence are shown. ot of cresse (2.8 R
16, 48,144,432, . .. it of Decreases (=20,2) Int of Decrease:
Extrema: a Extrema: MIN. @ (2, 2)
‘What is the explicit function, f(n), that defines the sequence? Explain how you determined your Lind Behavior: Lind Behavior:
answer. Write your answer in the space provided. Asx> 0,600 > Asx> 060>
Asx> o, £ > Asx> o0, £ >
Transformations: Transformations:
Stretch 2, Right 2
Graph: Graph
Domain: (=00, 00) Domain: (=00, 00)
Range: Range: (=00,2
Vertex: Vertex:
Asis of Symmet
ey s of Symmet
Zeros:
Zeros:
yentercept: (0. 0)
yintercept:

Intof Increase:

Intof Increase:
Int of Decrease:

Intof Decrease.
Extrema:______at. Extrema: at
End Behavior: End Behavior:

Asx> o0, 100>

Asx >0, () > =00 Asxd - 9 > =0
Transformations. Asx> o0, ) > =00

Transformations:
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Ay=-20x+3)*+2

By=2(x—-2)?-2

Algebra 1~ U3C st Review Part 1 Name
Then, eraph.
T 2+ -5 PE—rs
« Vertex: « Vertex:
« s ot sym. « s of Sym. R AR
+ Domain « Domain
« Range: « kange: -
« Increase: « incraase:
« Decroase: « Decroose:
o vk - v
« EndBehovior + End Behovior:
23301093 s ).
rexd 9. xS, 100>
3 y=-Gt2r-5 3 y=3G 812
‘Write the quadratic equation of the graph that has been

5. shifted down 1 and shrunk by a factor of %

6. reflected over the x-axis and has shifted right 2

.
Ty 2x—17+a

5.

y-Ghi-6

9 y=xt6x2

Toy=x r8xil

D 5 B T v+ 105 =07
quadraticy = 2(x ~ 3)* + 47
@ (5,66
) @,3x=-3 b) (5,9
b @ 4)x=4 9 (59
O G 4x-3 @ (5.3
) (4,3);
e 1. quadai
® functiony ~ —2x* — 5x + 15 opens up or
2) f(x) =22 —3x—10 andw
b) f(x)=x?+3x—10 dwhy.
O [(x) =2t 4x-12 a) Because <0, the parabola opens

2-5v-8

O 1

down.

b) Because a< 0, the parabola opens up.

©) Because 2> 0, the parabola opens
down,

) Becausea > 0, the parabola opens up.
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